Life-Cycle Cost Estimates
Perform a life-cycle cost analysis if the relevant information is available and there is a high likelihood that life-cycle cost savings can be realized by implementing the VA Alternative.
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Years BASELINE ALTERNATIVE

 A.

Years

Years

 B.

- $                     - $                      

0.000 0.000

- $                     - $                      

 C.SUBSEQUENT SINGLE COSTS Year Amount

PV Factor 

(P/F)

Present Value Present Value

1.00000 - $                    

1.00000 - $                      

1.00000 - $                    

1.00000 - $                      

1.00000 - $                    

1.00000 - $                      

1.00000 - $                    

1.00000 - $                      

- $                     - $                      

 D. - $                     - $                      

E. - $                      

F. - $                     - $                      

- $                    

PRESENT VALUE OF SUBSEQUENT SINGLE COSTS (Rounded):  

TOTAL SUBSEQUENT ANNUAL AND SINGLE COSTS (B+C)

TOTAL SUBSEQUENT COSTS SAVINGS:  

TOTAL PRESENT VALUE COST (A+D) 

TOTAL LIFE-CYCLE SAVINGS:    



Total Subsequent Annual Costs:  

Present Value Factor (P/A):  

PRESENT VALUE OF SUBSEQUENT ANNUAL COSTS (Rounded):  



- $                      

Service Life - Alternative

SUBSEQUENT ANNUAL COSTS

1.  Maintenance and Inspection

2.  Operating

3.  Energy

  Life-Cycle Period Real Discount Rate

INITIAL COST

Service Life - Baseline

INITIAL COST SAVINGS: 
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Master Initial Costs Worksheet 

		INITIAL COSTS														ALT. NO.

		CONSTRUCTION ELEMENT				BASELINE CONCEPT						ALTERNATIVE CONCEPT

		Description		Unit		Qty		Cost/Unit		Total		Qty		Cost/Unit		Total

		ROADWAY ITEMS

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

		ROADWAY SUBTOTAL								$   -						$   -

		ROADWAY MARK-UP								$   -						$   -

		ROADWAY TOTAL								$   -						$   -

		STRUCTURE ITEMS

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

										$   -						$   -

		STRUCTURE SUBTOTAL								$   -						$   -

		STRUCTURE MARK-UP								$   -						$   -

		STRUCTURE TOTAL								$   -						$   -

		RIGHT-OF-WAY ITEMS

		Right-of-Way Acquisition								$   -						$   -

		Utility Relocation								$   -						$   -

		Relocation Assistance								$   -						$   -

		Demolition								$   -						$   -

		Title and Escrow Fees								$   -						$   -

		RIGHT-OF-WAY TOTAL								$   -						$   -

		ENVIRONMENTAL MITIGATION ITEMS

										$   -						$   -

										$   -						$   -

		CAPITAL OUTLAY SUPPORT ITEMS

		Reengineering and Redesign								$   -						$   -

		Project Engineering								$   -						$   -

		TOTAL				$0						$0

		TOTAL  (Rounded)				$0						$0

														SAVINGS		$0





Master LCC Worksheet

		LIFE-CYCLE COSTS																ALT. NO.

		Life-Cycle Period						Years		Real Discount Rate						BASELINE		ALTERNATIVE

		A.		INITIAL COST

				Service Life - Baseline						Years		INITIAL COST SAVINGS:						$   -				ENTER DATA

				Service Life - Alternative						Years

		B.		SUBSEQUENT ANNUAL COSTS

				1.  Maintenance and Inspection

				2.  Operating

				3.  Energy

				Total Subsequent Annual Costs:												$   -		$   -

		Present Value Factor (P/A):														0.000		0.000

		PRESENT VALUE OF SUBSEQUENT ANNUAL COSTS (Rounded):														$   -		$   -

		C.		SUBSEQUENT SINGLE COSTS						Year		Amount		PV Factor 
(P/F)		Present Value		Present Value

														1.00000		$   -

														1.00000				$   -

														1.00000		$   -

														1.00000				$   -

														1.00000		$   -

														1.00000				$   -

														1.00000		$   -

														1.00000				$   -

		PRESENT VALUE OF SUBSEQUENT SINGLE COSTS (Rounded):														$   -		$   -

		D.		TOTAL SUBSEQUENT ANNUAL AND SINGLE COSTS (B+C)												$   -		$   -

		E.		TOTAL SUBSEQUENT COSTS SAVINGS:														$   -

		F.		TOTAL PRESENT VALUE COST (A+D)												$   -		$   -

		TOTAL LIFE-CYCLE SAVINGS:																$   -






